guooobboogd
goooudoooboodd




| OO I

00 25020130000 booobooobobboooboob0booobooooobo
o

gobbooobboooobbooobbbooooboboooobboooobobog
gooboodoobobooobbbuooobbboooobbbooobbbooobboobag
gobooooboooooboooooboon

gooo
gobobogiigobooobbooobbobboo4,50000bbooooon
ggooo

gaoo
goobboodoobtbooobbooobbooobbuooobbuooobbood
goobooon

gooo
og22000 250 OO0
22000 160 O0OO0OOOO0O 22000000

goono

4,500 39 4,461 2,116 47.4%

0000000 5.7 )0OOOOOOOOOO
0000000060000 216 )0OOOOO0700000 187 )0030000 157 )O
1500000 155 )0040000 129 )00200000 82 )0010000 2.8 )ODOOO
00000000000000@s )0OO0O000000@47 )OOOOOODO@Ws4s ) OO
000000000000000@31 )yoooo
0000000000000000@el )0OOOO0MO0OO0000@ss )000000
O0O0@2 )yoooo
0000000000000 0000@e?7 )DOOOOO0I0DO000000000(@4.8 )0
I00000@34 )0oOOOoOO0O0O
000000000000000@EO000000)I63.3 ) 000000
000000000000000@es )JOOODO0O000O000@e4 )0O00
00000000000 00000000000000000000 1600386 )J0O0O
00015000000000000000000000000
1



I oogn

ddddddddddoooouo@moboobo
ddddoododoooooooooooo
oobooooboboooboon

39.9%

oo UoUoUooo
ooboooooobod

[mooobogoobobogo 3o0bbog 200
ogooboa

goooodoooggoooganoondd
OgHoOO 100 0000000000000 dm
dgoboggooogobbmbooooobooobboooboooooobooobbgo

‘D godoooodod 0% 10% 20% 30% 40% 50% 60% 70%
[

60% 70%

gogood




gobooobbooonooooobooobbogooooooooooboooobbon
uoobooooobooobbooobbooobboon

oo oo UoUUo g
goboodbooooboooboomobooobobooobbuooobboobbbooooa
gobooooooooobooobbooobbooobooboon

0% 10% 20% 30% 40% 50% 60% 70%

|
56.0%!

(n=2,116)

10

ooodbboobbooobooooba
goboooboobboobbooboobognon
oo

0000000000000 000MO0n
0000000000 0DO0OOOOoOO
020 00000000000000000O0
= 000000000 oO0ooooooo

ooooooo




oo0moboooboodbboobbooobbopboobbooobooobooo

gobdoobboi™@oboboooboboooboog

0@obobooobbooooboboooob b oboboobooo o

go0bod0obtboooboioobbooobooboon

0% | IZO%

40% 60 80%

100%

N\ T

1 -5 E e 2% o s I3 RTRIRTRI IR
<<<<< 157<<<

B ERE e >>>>\) Thehyhghynyhynaiy

e

Bl e e

tJ* {}{}{}{}{}{}{5 5{}{}{}{} ek
ehghynann IR
SR

RARIESESE b

12.7

14.6

< Lo < < < <
Shrptit: > PRSI S S P S
FLateLs: < PR e r s

£ £ £ £

PRt iy

£
u > > >
- BRERELES
ETEay
PaNPa o3
Loy <
PRty i
Lodndid <

13.2

145

o
£ }{}{} %5 b
ARCEPRLR IR

B

S RLTLE

17> pa :6££> Fhh
Eda kD K

*’._1_"._1_"._1_"._1_

13.2

136

15.5

158

16.4

15.7

ERE S S S PSS S Sy
>>>>>>>27>>>>>>>
PR S ot g gt fj<><<<<<<

PRPRERPRERY | |

153

153

W oo
M coo

oooon

0000000000
E ooooooooooo

[ l0ODO

o000 UUU U

bbb bhmobboodmbooobboooobobooooobooo

oo oooooouo



10
oo oo o ooobboobooboon
gooobbboooouoobobboooooobbuooooobobbbooooobboboo
godddddddoodooooddduuugguo
ggooomoooooboooboobobbbbbboddddddduduugga

0% 10% : i)% 30% 40% 50% 60% % 80% 90% 100%

) 7.7 RRRRETA IR & 307 39
L AL &2
) B
8 2aR I
B8 R ECE
s AT =
2
S| = | sz 1111 S
158 62888811 .1
s S =
[ ) e AT =2

a4 TNz ANTIANTAANIT e

B ooooooooooooo 0D0000000000oon
Ml coooo (] ooOo

go0bdoobboobob@bboobbtbooobbuooobob2obb3bboOoon
goodoooogood



50

-50

b 1wooogobobdooobobdooobboobobooon™oboooboobooon

gobooobooood

ogoooadoononoogdooogdgonooadooonoodoooogdn

gooooooogooooaoan

40% 50% 60%

[

ggooooooobobboooooooouooooooobobbbbooooooo

56.3%

2,116)

goboooobogobboooboobooon

gooooooooobbbbbbooooooooooooooboobboooooo

gbobooobbooboboo

A B A B
: 50 T
» 1 1 °
l .
. e . *
************ ;***;**‘L***;***;********** 0 ® e o ©
I X °
R 5
: -50 1
80 C 40 0 40 D so -80C -40 0 40 D =0
=21.725% 0
56.3% 21.725% 34.6
P4
P5
10
5,062 35.7%=<1 21.6%x= -1 10.2%>< -2 14.8%<0 12.7%=<0 3.7

47.7% 17.8% 29.9

6



gobood™mobboobboboobobooobbboooobboooboboooono
goobobobbodooooooobobobbbtbooooobbobbbooooooLboboboo

googd

goboooooooogdooodnoogonoodnoodoogodnogooaong

godgnooodooodggoonoodoonogdn

uobooobbooobbooobobooobbuooobbooobboon

G

0% 10% 20% 30% 50% 60% @ 80% 90% 100%
T T T T il T T
49.9 41331 Q.ZE:ETQEN 10.0
‘ ‘ | =—=%%
%5 04T =N 112
E et DN 1
| | | | 35 |
: . . A T A EE .
50,1 / rhgatiils e oW 117
T T T % :\: i e ?\Ll.a
| | | | | |
433 2660 5990 132
| | | | | 17 |
41,6 3.2|:6:.0 122
T [ X 1.47
Il Il L
40.3 riBoard 117
‘ ‘ 11
| | |
403 bttt 10N 114
T =11
446 940N 9.4
| | i 13

B ooooooooooooooooon
[lioooooOooOoOOoOOO0O0O0O0O00
E o00000000000000000000O0

[(JooO

gboooboobobboobooobooo
gboooboobooboobooo
goooboobobooobooon

gobobogbobobooboooooog
gooooooobobobobobobobbbn
goboomooooboooboonn
goboooboooboboon

vodpoonoooododooon
oo ddodoogn
gogoooadon

7.8%

30

2,116

gobogoob sobudgobooooobooodbobood4odnbooobonbooon
gobogoboodbobooobbooobbooobobooobbooooboon



noooooooddd N P 0% 104 20% 30% 40%

50%

00000000000 ——————— |
00000000 O0DOO
000000000000
00oOo0000ooooo

gboboobobooogoon
HEN

goooaggoogadd
gogoooogoood

goobooobobbooobobobooobobbuooobLbbbooobbbooon
goboooboboodbbooobbooobbuooobobooon

goobboooobobbbooooooob
goboooooood

ggobooboooobmoboooooon
goboomooobooobD
uobobooobbodbbooobobooon
gooogoo
dobooobobooooboooboo

0% 5% 10% 15% 20% 25% 30% 35% 40% 45%

gooooooon

gbobogobomoon

goooboobogon

gobooobooogono
gobooooog

Mooooooobd
goboogoooogno
gobooooooono
gobogoooooo
gbo3p0bo0oooon
googad
gobooobbooobboooboobooobboooboboooobooba
uoboooobbooobboobobbooobbuooobbooobboobboo




o 10% 20% 30% 40% 50% 60% 70% 80%

00000000000000 —
00000000000000 —
00 139% | |

4 . o

00000000000000 |
000000000000000 o
00000000000

\ -
| ( 2116)

gooboooobobooobbomuooobooobbooobbooobbuoooon
gobooobboobobboobobooobbuooobbuooobbooo
gobooobbodoobobooobooobobuooobooobobooobboo

ooooodooogdonoodoooodgnooogonooogoood
gogoooodobooggonooodonoog

0% Sh 10% 15% 20% 25% 30% 35% 40% 45% 50%




